# **SIGNATURE PAGE**

# RFQ# F-24-2024

To the Board of County Commissioners of the County of Monmouth:

THE UNDERSIGNED HEREBY DECLARES THAT
I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS.
I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE
WITH YOUR REQUIREMENTS.

Company Name:	PLASTIC EXPIRESS Inc.
Preparer's Name:	Roman Hardakha EV
Signature:	P. 10/16/202
Address:	667 CEHIGH AVENUE
	Union NJ 07083
Telephone No.:	718-499-1119
Fax No.:	908-624-9090
E-Mail Address:	Bidsa-PIEX247. com
	***(This should be the email where Contracts would be sent)***
Contact Person:	EDDIE H. WARDAHAEV
FEIN:	· 
(Federal Employee ID)	

---- This Is Not An Order ----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

RFB must be received no later than:		October 18, 2023 1	0:30AM			
For Delivery to:	Various Delivery Locatio	ns. See Details Below.				
Delivery Date:	1/′	1/1/2024 - 12/31/2024				
ITEM#	DESCRIPTION		QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE	
GLOVES - NO LA	TEX PRODUCTS - RUBBER, F	POLY, NITRILE		·		
1 LINED RUE	BBER GLOVES, SIZE: SMALL		100 PAIR(S)	0,99	99.00	
Packagir MFG/Bra Product I Variance	no: FMemud Wo: #300	5E				
2 LINED RUI	BBER GLOVES, SIZE: MEDIUI	М	136 PAIR(S)	0.99	134.64	
Packagir MFG/Bra Product I Variance	nd: <u>EmeralD'</u> No: #301	/case				
3 LINED RU	BBER GLOVES, SIZE: LARGE		148 PAIR(S)	0.99	146,52	
Packagir MFG/Bra Product I Variance	and: EMERALD No: #302	/case				
4 POLY DISE	POSABLE GLOVES,1.25 MIL., ER	SIZE: MEDIUM,	2,200 GLOVE(S)	0.047	103.40	
Packagir MFG/Bra Product l Variance	and: <u>Ememblo</u> No: #HDPB50	<u>(- 10 Boxes</u> /c	? <b>5</b>			

---- This Is Not An Order -----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
5	POLY DISPOSABLE GLOVES, 1.25 MIL., SIZE: LARGE, NO POWDER	2,200 GLOVE(S)	0.047	103.40
	Packaging: 100 Gloves/Box -10 Box  MFG/Brand: Fmeraus  Product No: # HDPB50/  Variances, if any:	es/cs	L	
6	NITRILE DISPOSABLE GLOVES, 5 MIL., SIZE: (S) SMALL, NO POWDER	12,002 GLOVE(S)	0.056	672.11
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS			070
	Packaging: 100 Glove's /Box - 10 Boxe's  MFG/Brand: Fmeroup  Product No: #30 86  Variances, if any:	<u></u>		
7	NITRILE DISPOSABLE GLOVES, 5 MIL., SIZE: (M) MEDIUM, NO POWDER  **SAMPLES REQUIRED AT TIME OF BID FOR THIS	12,300 GLOVE(S)	0.056	688.80
	Packaging: 100 Gloves / BOX - 10 BOX -	es/cs - -		
8	NITRILE DISPOSABLE GLOVES, 5 MIL., SIZE: (L) LARGE, NO POWDER	12,300 GLOVE(S)	0.056	688, <sup>80</sup>
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS		0.000	
	Packaging: 100 Gloves BOX -10 BOXES  MFG/Brand: Emergy D  Product No: 4#30.83  Variances, if any:	<u>s</u> /cs - -	L	<b>.</b>
9	NITRILE DISPOSABLE GLOVES, 5 MIL., SIZE: (XL) EXTRA LARGE, NO POWDER	388,200 GLOVE(S)	0.056	21,739.
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS		0.002	

ITEM

---- This Is Not An Order ----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

DECE	MBER 31, 2024			
ITEM#	Packaging: 100 Gloves / Box - 10 Poxes / S  MFG/Brand: Emercus D  Product No: Variances, if an experimental product No.	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
10	NITRILE DISPOSABLE GLOVES, 5 MIL., SIZE: (XXL) EXTRA, EXTRA LARGE, NO POWDER  **SAMPLES REQUIRED AT TIME OF BID FOR THIS ITEM Packaging: 100 Gloves BOX - 10 BOXES	42,100 GLOVE(S)	0.056	2,357.69
	MFG/Brand: Emercu D  Product No: 4F 2088 - XXI  Variances, if any:			
11	NITRILE DISPOSABLE GLOVES, BLACK, 5 MIL.  MEDICAL GRADE/ FOOD GRADE  UNPOWDERED  9.5" LONG  TEXTURED FINISH  FDA APPROVED  AMBIDEXTROUS  SIZE: XS	2 GLOVE(S)	0,056	0.112
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS ITEM  Packaging: IGO GIORD BOX IO POXES  MFG/Brand: FMPM D  Product No: Variances, if any:	<b>`</b> 5		
12	NITRILE DISPOSABLE GLOVES, BLACK, 5 MIL. MEDICAL GRADE/ FOOD GRADE UNPOWDERED 9.5" LONG TEXTURED FINISH FDA APPROVED AMBIDEXTROUS SIZE: S	2 GLOVE(S)	0.056	0.112
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS ITEM			

----- This Is Not An Order -----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: 100 G1000 / 130 X - 10 B0 X  MFG/Brand: Ememoria  Product No: # 1032  Variances, if any:	25/05 — —		
13	NITRILE DISPOSABLE GLOVES, BLACK, 5 MIL.  MEDICAL GRADE/ FOOD GRADE  UNPOWDERED  9.5" LONG  TEXTURED FINISH FDA APPROVED  AMBIDEXTROUS SIZE: M  ***SAMPLES REQUIRED AT TIME OF BID FOR THIS	200 GLOVE(S)	0.056	11.20
	Packaging: 160 Gloves/Box -10 130xe9  MFG/Brand: Emerge 10  Product No: #1083  Variances, if any:	<u>fc</u> s 		
14	NITRILE DISPOSABLE GLOVES; BLACK, 5 MIL. MEDICAL GRADE/ FOOD GRADE UNPOWDERED 9.5" LONG TEXTURED FINISH FDA APPROVED AMBIDEXTROUS SIZE: L	300 GLOVE(S)	0.056	16.80
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS ITEM  Packaging: 100 Glavel /BOX - 10 BOXES  MFG/Brand: Emerce 5  Product No: # 10 8 4  Variances, if any:	<u>/c</u> s		
			0.056	16.80

---- This Is Not An Order ----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION		QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
15	NITRILE DISPOSABLE GLOVES, BLACK, 5 MIL. MEDICAL GRADE/ FOOD GRADE JNPOWDERED 9.5" LONG TEXTURED FINISH FDA APPROVED AMBIDEXTROUS SIZE: XL **SAMPLES REQUIRED AT TIME OF BID FOR THE TEM Packaging: MFG/Brand: **EMPROVED AND TOUCH AND THE AN	/	300 GLOVE(S)	0.056	16.80
	Variances, if any:				
	NITRILE DISPOSABLE GLOVES, BLACK, 5 MIL. MEDICAL GRADE/ FOOD GRADE JNPOWDERED 9.5" LONG TEXTURED FINISH FDA APPROVED AMBIDEXTROUS SIZE: XXL	<b>THIS</b>	100 GLOVE(S)	0,056	5.60
1	Packaging: 100 Gloves/Box - 10  MFG/Brand: Emerculo  Product No: #108.5 - XXL  Variances, if any:	Boxes/cs		<u> </u>	
(         	NITRILE DISPOSABLE GLOVES, BLACK, 6 MIL. MINIMUM THICKNESS THROUGHOUT, NO EXCEPTIONS) EXAM GRADE NON-LATEX POWDER FREE BEADED/TEXTURED GRIP HEAVY DUTY/INDUSTRIAL/AUTOMOTIVE SERV BIZE: LARGE		1,200 GLOVE(S)	0.0693 EN	83.16 (N)
	*SAMPLES REQUIRED AT TIME OF BID FOR T TEM	THIS .			

---- This Is Not An Order -----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: 100 Gloves /Box - 10 Box  MFG/Brand: EmergeD  Product No: #6102  Variances, if any:	<u>es</u> /cs		
18	NITRILE DISPOSABLE GLOVES, BLACK, 6 MIL.  (MINIMUM THICKNESS THROUGHOUT, NO  EXCEPTIONS)  EXAM GRADE  NON-LATEX  POWDER FREE  BEADED/TEXTURED GRIP  HEAVY DUTY/INDUSTRIAL/AUTOMOTIVE SERVICE  SIZE: X-LARGE  **SAMPLES REQUIRED AT TIME OF BID FOR THIS  ITEM  Packaging:  MFG/Brand:  Product No:  Variances, if any:	27,100 GLOVE(S)	0.0693 RH	1,878,03
19	NITRILE DISPOSABLE GLOVES, BLACK, 6 MIL.  (MINIMUM THICKNESS THROUGHOUT, NO EXCEPTIONS)  EXAM GRADE  NON-LATEX  POWDER FREE  BEADED/TEXTURED GRIP  HEAVY DUTY/INDUSTRIAL/AUTOMOTIVE SERVICE  SIZE: 2X-LARGE  **SAMPLES REQUIRED AT TIME OF BID FOR THIS  ITEM  Packaging:  MFG/Brand:  Product No:  Variances, if any:	2,000 GLOVE(S)	0.0693 (RM)	138.60

---- This Is Not An Order ----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

JTEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
20	NITRILE DISPOSABLE GLOVES, BLACK, 8 MIL. INDUSTRIAL GRADE UNPOWDERED 9.5" LONG	100 GLOVE(S)	0.068	6.80
	TEXTURED FINISH FDA APPROVED AMBIDEXTROUS SIZE: XL			
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS  ITEM  IOO Clause (Ray io Rays)	Acce G		
	Packaging: 100 Gloves/Box ~ 10 Boxes/ MFG/Brand: Emercup Product No: # 270 7 Variances, if any:	<u>(a</u> 5e 		
21	FOOD SERVICE GLOVES, POLYETHYLENE, DISPOSABLE, LATEX AND POWDER FREE, CLEAR, SIZE X-LARGE	72,000 GLOVE(S)	0,050	3600.00
	**SAMPLES REQUIRED AT TIME OF BID FOR THIS			
	Packaging: 100 Gloupy Box - 10 Boxes  MFG/Brand: Ememblo  Product No: 4F HDPB - X L  Variances, if any:	<u> c</u> ase 		<u> </u>
WORK	(/UTILTY GLOVES LEATHER, COTTON, KNIT			
22	GLOVES, BROWN JERSEY COTTON, UNLINED, 9 OZ., MEDIUM WEIGHT	186 PAIR(S)	0,65	120.90
	Packaging: DO7 EN (12 PAirs)  MFG/Brand: Emercus  Product No: #25 B 5  Variances, if any:			
23	GLOVES, BROWN JERSEY COTTON, LINED, 14 OZ., HEAVY WEIGHT, GUNN CUTT	486 PAIR(S)	NOBIC	)

---- This Is Not An Order -



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION		QUANTITY/UNIT		UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:					
24	GLOVES, STRING KNIT WITH FULL PALM COATIN INCLUDING FINGER TIPS, BLUE LATEX SIZE: LARGE		198 PAIR(S)		0.98	194.04
·	Packaging: 30 Bags of 10 Packaging: Emercus Product No: #121-L Variances, if any:	AIG/C>				·
25	GLOVES, STRING KNIT WITH FULL PALM COATININCLUDING FINGER TIPS, BLUE LATEX SIZE: X-LARGE	,	498 PAIR(S)		0.98	488,04
	Packaging: 30 BAGS OF 10  MFG/Brand: Emero D  Product No: #121-XL  Variances, if any:	Pairs/cs				
26	IMPACT STYLE WORK GLOVE SIZE: MEDIUM		36 PAIR(S)	· .	NO BID	
	Packaging:  MFG/Brand:  Product No:  Variances, if any:					
27	IMPACT STYLE WORK GLOVE SIZE: LARGE		144 PAIR(S)		NO BID	
	Packaging:  MFG/Brand:  Product No:  Variances, if any:		· .			
28	IMPACT STYLE WORK GLOVE SIZE: X-LARGE		132 PAIR(S)		NO BID	

---- This Is Not An Order ----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS MONMOUTH

TEM#		DESCRIPTION		QUANTITY/UNIT		UNIT PRICE	TOTAL PRICE
	Packaging:		, , , , , ,				
	MFG/Brand: Product No:			•			
	Variances, if any: -					•	•
29	IMPACT STYLE WOR	K GLOVE		12 PAIR(S)			
	SIZE: XX-LARGE	( OLOVL		12 17 11 11 11 11 11	, ,	NO BID	
	Packaging:	·				<u>                                     </u>	<del></del>
	MFG/Brand:						
•	Product No:						
	Variances, if any:	<del></del>					•
30	IRONCLAD COMMANI	D IMPACT GLOVE		17 PAIR(S)			<del></del>
	SIZE: MEDIUM	J IIVII AO I OLOVE		11 11 11 11 11 11 11 11			
	COLOR: BLACK					1	
		ISCREEN PERMISSIVI	E .			1	
	SYNTHETIC SUEDE P					NO BID	
		STER KNIT BACK OF				14000	
		IMPACT PROTECTION	1				
	THUMB SADDLE REIN					- I	
	TERRY CLOTH SWEA		•	•			
	ANSI CUT RATING: AZ						
	ANSI ABRASION RATI						
	GRIP RATING: DRY 4/	*					
	Packaging:	J, VVL 1 7/0, OIL 1 1/0		•			•
	MFG/Brand:	:		•			
	Product No: —						
	Variances, if any:						
		<del></del>				Ţ <del></del>	<del></del>
			, ·			1	
			•	·		1	
		•				1	
	. •					NOBID	
					•	11000	
	•		•			) . I	
	•	,				1 .	

#### IN UT I LTLUCT

### REQUEST FOR BID

----- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

# FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
31	IRONCLAD COMMAND IMPACT GLOVE SIZE: LARGE COLOR: BLACK REINFORCED TOUCHSCREEN PERMISSIVE	101 PAIR(S)		
	SYNTHETIC SUEDE PADDED PALM BREATHABLE POLYESTER KNIT BACK OF HAND TPR BACK OF HAND IMPACT PROTECTION THUMB SADDLE REINFORCEMENT TERRY CLOTH SWEAT WIPE ANSI CUT RATING: A2 ANSI ABRASION RATING: 3 ANSI PUNCTURE RATING: 3 GRIP RATING: DRY 4/5, WET 4/5, OILY 4/5		NOBID	
	Packaging:  MFG/Brand:  Product No:  Variances, if any:	<del></del>		
32	IRONCLAD COMMAND IMPACT GLOVE SIZE: X-LARGE COLOR: BLACK	124 PAIR(S)		
	REINFORCED TOUCHSCREEN PERMISSIVE SYNTHETIC SUEDE PADDED PALM BREATHABLE POLYESTER KNIT BACK OF HAND TPR BACK OF HAND IMPACT PROTECTION THUMB SADDLE REINFORCEMENT TERRY CLOTH SWEAT WIPE ANSI CUT RATING: A2 ANSI ABRASION RATING: 3 ANSI PUNCTURE RATING: 3 GRIP RATING: DRY 4/5, WET 4/5, OILY 4/5		NO Big	
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			
			NO BID	

Page 36 of 42

---- This Is Not An Order ----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION		QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
33	IRONCLAD COMMAND IMPACT GLOVE		35 PAIR(S)		
	SIZE: XX-LARGE				
	COLOR: BLACK				
	REINFORCED TOUCHSCREEN PERMISSIVE			.*	
	SYNTHETIC SUEDE PADDED PALM	5 A		0.1.5	
	BREATHABLE POLYESTER KNIT BACK OF HAND			NOBID	
	TPR BACK OF HAND IMPACT PROTECTION	* * .	•		
	THUMB SADDLE REINFORCEMENT	•	_		
	TERRY CLOTH SWEAT WIPE		•		
	ANSI CUT RATING: A2			1	
	ANSI ABRASION RATING: 3	:	·		
	ANSI PUNCTURE RATING: 3			,	
	GRIP RATING: DRY 4/5, WET 4/5, OILY 4/5				•
	Packaging:	· · · · · · · · · · · · · · · · · · ·			
	MFG/Brand:		÷		5
	Product No:				
	Variances, if any:	·		,	
			224 DAID(0)		
34	LEATHER WORK GLOVES	•	331 PAIR(S)		
	SAFETY CUFF				
	SPLIT COWHIDE, KEVLAR STITCHED	•			
	LEATHER-WRAPPED FINGERTIPS		•	,	
	KNUCKLE STRAP FOR ABRASION PROTECTION		·		
	DOUBLE PALM WITH EXTRA LAYER OF LEATHER I	N .			
	HIGH-WEAR AREAS		•	NOBID	
	COTTON BACK	AND '		INOUND	
	ABSORBENT FLEECE LINING SEWN INTO THUMB	AND	•	1	
	FOREFINGER	.*			
	GLOVE LEATHER GRADE: A	٠.			ı
	GUNN CUT				•
	THUMB STYLE: WING				
	NOT INSULATED				п
	SIZE: LARGE	•		,	· · · · ·
	Packaging: ————————————————————————————————————	<del></del>			•
	MFG/Brand:	·	•		
	Product No:	<del></del>	·		
	Variances, if any:		·	· .	·
			· .		

---- This Is Not An Order -----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

# FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH **DECEMBER 31, 2024**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
35	LEATHER WORK GLOVES SAFETY CUFF SPLIT COWHIDE, KEVLAR STITCHED LEATHER-WRAPPED FINGERTIPS KNUCKLE STRAP FOR ABRASION PROTECTION DOUBLE PALM WITH EXTRA LAYER OF LEATHER IN HIGH-WEAR AREAS COTTON BACK ABSORBENT FLEECE LINING SEWN INTO THUMB AND FOREFINGER GLOVE LEATHER GRADE: A GUNN CUT THUMB STYLE: WING	387 PAIR(S)	NO BID	TOTAL PRICE
	NOT INSULATED SIZE: X LARGE			
	Packaging:  MFG/Brand:  Product No:  Variances, if any:			

33,310.354

#### Various Delivery Locations:

Division of Highway Public Works Complex 250 Center Street Freehold, NJ 07728 Cassandra Deckle 732-431-6550

Buildings & Grounds/Trades Special Services Complex 300 Halls Mill Road

Freehold, NJ 07728

Karen Retzer 732-431-7360 x2136

Division of Fleet Services Public Works Complex 250 Center Street Freehold, NJ 07728

Joe Ponisi - x7165 or Kyle Dodig - x7164 732-431-7830

----- This Is Not An Order -----

DESCRIPTION



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

**UNIT PRICE** 

**TOTAL PRICE** 

Contact: Sophia Amorski

QUANTITY/UNIT

732-431-7370 x7381

FURNISH AND DELIVER GLOVES (NITRILE, WORK AND UTILITY) FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024

Division of Shade Tree Special Services Complex 300 Halls Mill Road Freehold, NJ 07728 Cassandra Deckle 732-431-7903

Sheriff's Office - Correctional Institution

P.O. Box 5007

ITEM#

1 Waterworks Road

Freehold, NJ 07728

Jeff Sauter 732-431-7860 x1203

Health Department Veteran's Memorial Building 50 East Main Street Freehold, NJ 07728

Denise Richardson 732-431-7456 x2725

Page 39 of 42